
Üè0.O�Ï×.� ^£�Ù� ?�×

ÞêC�nà

.�� �(� .r� ÿ5�

��^�C` �96O10`29^10:10–12:00 >/�?Z*

1–4Þ&155, 5,6Þ&205�6!îÊ	ÝM»�

1. 'Ω = {1, 2, 3, 4, 5, 6, 7}�(i)����â{1}C {1, 4, 5}�t�Ýσ-�F , (ii)3Fî
�L×^£Ðó, ¸ÿP ({1}) = 0.2, P ({1, 4, 5}) = 0.5�

2. 'Ω = {1, 2, 3, 4, 5}��5½O�Ω�Xb-ôÍó
4,C8�σ-�ÝÍó�

3. uA�B�}ñ, vP (B) > 0, ÎÍÄbP (A|B) > P (A)�uÎJJ�, �ÎJÜ
×D»�

4. '×�1�bkÍ����¯�A�h�1�bv�C��, B�h�1�t9
b1����Ek = 2, 3, 4, 5½D¡A�BÎÍ}ñ�

5. '�^�óX, |f(x) = cx2e−x/2, x > 0, 
Íp.d.f.�(i)�X�ðóc, (ii)�
OE(X), E(X2)CV ar(X)�

6. '�^�óX|f
Íp.d.f.�Í�f(x) = 1
π(1+x2)

(1 + sin x), x ∈ R�

(i) �Jf(x)@@
×p.d.f.�

(ii) �Y = X2
��OY�p.d.f.�

(iii) �OE(Y ), CV ar(Y ), v1�ÎÍD3�


